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The figures in the margin indicate full marks
Jor the questions

1. oS AR v Ted AR e : 1x8=8
Choose the correct answer from the following :

(@) IREF TP (A ‘deviation from the
social ideal remediable by group effort’

e el 2

Who mentioned social problem as a
‘deviation from the social ideal
remediable by group effort’?

(i) 25 SF @ / Horton and Leslie

(i) ¥N{ / Blumer

(iii) AR AF FF / Walsh and Furfey
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(2)

(b) A REF CFIS (@A ‘corruption

(c)

denotes the abuse or misuse of public
offices for personal gains’ 3T Cf%e 2

In defining corruption who stated that
‘corruption denotes the abuse or misuse
of public oﬁic’es for personal gains™

) & &/ J. Nye
() v Szeftel

(iii) < ({@= / Andriski

oS TrEy 39 @mﬁrﬁmm@waw

WS wIfRE ?

Which of the followmg Subjects was
related to Mandal Commiission?

() SRR T

Economic development -
(i) WA SRR

Politicél participation
(iii) TS

Reservation pohcy
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(3)

(d) oo SERS FHH TASION TG HITHoP
2

Which one of the following is a cultural
problem of the tribal society?

(i) I]VE A=W TR A
Problem relating to forest

(i) IEm R
Child marriage
(iii) STRI-STFRA AP
 Problem of language

(e) CFW oI TN (PG (FHR AR Foel “IfRaw
515 91 0Re ? ‘

In which year, the Cehtral Social Welfare
Board of our country was formed?

U] >$8b-

1948
(i) >S»e®
1953
(iii) dSsav
1956
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(4)

() TR XA AW I C2fREA
The Factory Act was adopted in

(i) 5584 © / 1947
(ii) >58y © / 1948

(i) 585 © / 1949

() wmwwrwmﬂm@%w
Siet IRI 1R 2

According to Prof. Hassan, social security
can be divided into how many types?

i) w2/ Two
(i) & / Three
(i) wR / Four

(h) Social Problems in India 999 AT (A
ffde 2

Who wrote the book, Social Problems in
= Indig?

() IW wEW / Ram Ahuja
(@ & w®. ¥@ / G. R. Madan
(i) <% <% P&/ s, 8. Gill
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2. R e SRBR 5y Gre frn (2fSch 150 *1w]

fov9) : 4x4=16
Write short notes on any four (within 150
words each) :

() TR T Ronet SRR

¢ Population explosion as a soc1a1 problem

(b) TNt
Alcoholism

() SIS wfex e TP
Social problems of Scheduled Caste

(d) FE TR AT

Background of social welfare

() e O AT Frere

’ Society and social security

* () TRE WA R TS RareR e
AT

Differences between social welfare and
social security
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3. bt e Tew P, ofH ¥eT R RS

(2f%ch1 500 *¥1 foe<©) :

Answer four questions, taking two from each
Part ( within 500 words each) :

Ye—> / Part—1

(@) TR TR I oF R Rew

(b)

(c)

(d)

e ¥R 4+10=14

Discuss about the causes and
consequences of social problem.

e oat & g2 e sem et
ﬁmwﬁawwmwn 4+10=14

What do you understand by illiteracy?
Discuss about 1lhteracy as a social
problem

e @ TR WA 27 R T @
oes Rosmd SsRweR | 4+10=14

What do you mean by weaker sections in
society? Give a sociological analysis on it.

AT SRE® IFIeR AT oot
SIS SSRCG] | 14

Discuss the problems of the old aged in
contemporary India.
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(7)

9—= / Part—2

(@) TR Fomed oY 2T T | W ARTITR
RTAGR, S 7 | 4+10=14

Give the meaning of social welfare.
Discuss about its scope.

(b) AR IER ST PRl ([EIFA AT
(e, f. o) SR 7o Resma 1) 14

Analyze the role of Nongovernmental
Organization (NGO) as an agency of social
welfare.

(c) e FEeER RET WSRCEET | AWEE
frreral od oINS e R R gem o
g, Sl T4 | 4+10=14
Define social security. Discuss the

measures adopted by the Government of
India with regard to social security.

(d) "SR CPTS AW PRI —eR o w3y
=1 o 14

Write an essay on the topic, ‘Social
security in our country’.

*okk
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